

Ableitungen:

$$f(t) \longleftrightarrow F(s)$$

$$f'(t) \longleftrightarrow \int_{-\infty}^{+\infty} \underbrace{f'(t)}_{u'} \underbrace{e^{-st}}_u dt$$

$$= \underbrace{f(t) e^{-st}}_{\stackrel{!}{=} 0} \Big|_{-\infty}^{+\infty} - \int_{-\infty}^{+\infty} \underbrace{f(t)}_u \underbrace{e^{-st} \cdot (-s)}_{u'} dt$$

$$= s \int_{-\infty}^{+\infty} \underbrace{f(t) e^{-st}}_{F(s)} dt$$

$$f'(t) \longleftrightarrow s \cdot F(s)$$

analog

$$f''(t) \longleftrightarrow s^2 F(s)$$

$$f^{(n)}(t) \longleftrightarrow s^n F(s)$$

$$f'(t) \cdot u(t) \longleftrightarrow$$

$$\int_{-\infty}^{+\infty} \underbrace{f'(t)}_{u'} \underbrace{u(t)}_u e^{-st} dt = \int_{-\infty}^{+\infty} \underbrace{f'(t)}_{u'} \underbrace{e^{-st}}_u dt$$

Beweisziele LT von  $f'(t) \cdot u(t)$ 
ansetze LT von  $f'(t)$

$$= f(t) e^{-st} \Big|_0^{+\infty} - \int_0^{+\infty} f(t) e^{-st} (-s) dt$$

$$= \lim_{R \rightarrow +\infty} \underbrace{f(R) e^{-sR}}_{\stackrel{!}{=} 0}_{\sim \text{ZOC}} - f(0) e^{-s \cdot 0} + s \int_0^{+\infty} \underbrace{f(t) e^{-st}}_{F(s)} dt$$

$$= s F(s) - f(0)$$

$$f''(t) \cdot u(t) \longleftrightarrow$$

$$\int_0^{+\infty} \underbrace{f''(t)}_{u''} \underbrace{e^{-st}}_u dt = \underbrace{f'(t) e^{-st}}_{u'} \Big|_0^{+\infty} - \int_0^{+\infty} \underbrace{f'(t)}_{u'} \underbrace{e^{-st} (-s)}_{u'} dt$$

$$= \lim_{R \rightarrow +\infty} \underbrace{f'(R) e^{-sR}}_{\stackrel{!}{=} 0}_{\sim \text{ZOC}} - f'(0) e^{-s \cdot 0} + s \int_0^{+\infty} \underbrace{f'(t) e^{-st}}_{\substack{\text{LT von} \\ f'(t) \cdot u(t)}}$$